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alpha13_4eX1X:cyclenum {run == 6867}
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alpha46_4eY4aY:cyclenum {run == 6867}
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delta13_12X4eX:cyclenum {run == 6867}
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segment:cyclenum {run == 6867}
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usl_1X:cyclenum {run == 6867}
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usl_4eX:cyclenum {run == 6867}
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usl_4eY:cyclenum {run == 6867}
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150.5−
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usr_1X:cyclenum {run == 6867}
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usr_4eX:cyclenum {run == 6867}
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7195 7195.5 7196 7196.5 7197
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38−
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37−
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36−
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usl_coil1:cyclenum {run == 6867}
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cyclenum
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usl_coil3:cyclenum {run == 6867}
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4210.4
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usl_coil4:cyclenum {run == 6867}
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usl_coil6:cyclenum {run == 6867}
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usl_coil7:cyclenum {run == 6867}
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usr_coil1:cyclenum {run == 6867}
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usr_coil3:cyclenum {run == 6867}
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70−
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69.6−
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